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*++ May have an error of 18%
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Additional m-File: solvesys.m . i MWMM cipn
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% relative error in the data C‘ S'L\U.l,-a * e

relErrData=0.001;

% initialize the matrix : @ ‘LL“’F" 9‘ {’w_d //jr)

A=zeros(n) ;

b=zeros(n,1): O fmjuﬁﬁkuf)( {ﬂ%{,tf.‘ﬁ{::d_
% set row 1 =1 ‘/(? f’l JI_(WH_ .{W I8 ﬂg
Al1,1)=1; @ Q'I % }&\ffg

All 2)=2: =
@ s 4
% get rows 1 = 2 to n-1

for i=2:n-1 @ {n.l;-r_{fimii—'i
A{i,1-1)=1;
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IMPORTANT:

Do not change anything in this header! Put the solution to the question completely at the end of the file.
- - - M
Initialize 7"

D) th[‘Lrﬁ"jizﬁ X
format compact if;f | _%
more off @Lﬂf J1 2k Sawm 0y

- o bk
My Solution: - 8t Lovp ] "‘“_’_U_S‘)
* 1 L f
¥ set the worst case x ! f;J L 1ani o J e tiu

Il

®x=1-1/aqrt(2}; / iy

com] S
B corgtd WL bely
% maximum number of terms we will ezzéJEumx L 3

P s i A i A

iMax=500; P tg. E’ mﬁrf s iéé_ﬁgwuﬁyfh
% initialize the sum to the first te I @ i’-f.nk 5 i

=3 : F
total=ti; (EE’ : ; pnk

i

¥ add more terms until the sum no longer improves: Gj( (J
for i=2:iMax

% compute the new term from the previous wvalue 33

ci=tiwx*({i-1}/1);

% remember the current sum

totalold=total;

¥ add the new term

total=total+ti;

% if no change, stop summing

if total==totalOld

break

end
end
if total-=totalold

disp('*** WARNING: Sum did not converge!')
end

%t analyze the results
exact=log(sgrt(2));
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IMPORTANT:

Do not change anything in this header! Put the solution to the question completely at the end of the file.
Initialize

format compact
more off

My Solution:

% Find the partial fraction expansion of a ratioc

) S disp('Analyze a Laplace transform:')
i }V diﬁp{1 I} |
; VLM { SRR - - A -

IJ:' ratSym=(s"3+8"2+8+1) / (274-2*3%3-14%s+15)
disp{| |} ."_-
/ f ’WW'{&’"{ - factors=prod (factor (ratSym)) L/
.--"'_'_'_'-FF i . —==
=,_..--= disp(' ") == T‘
(5 I {5&5 fa; paltrtlf[?rac-partfrac{ratSym}l C/ s ,
g disp(* ')
jﬁ il iﬂjf = g
(/ ~ % Find the roots of the lemniscate
disp('Roots of the lemniscate:')
g \‘-L 'JFG syms X Y
s disp(' ')
‘?_ﬁc‘f”f 451 ySol=solve ((x"2+y"2) "2==x"2-v"2,v)
8’ — dispf(' ')
e *d
A b % integrate a function
L?_‘:,* L ] Hdisp{'ﬂntideriv&tiv& of a function:')
'3
"'I 1l i B}-“ma a X
@) bﬁ;’t‘/‘ﬂ‘“”Lw disp(' ')
e, B f=1/=grt{a™2-x"2)
.-'I h : diﬂp! ' : :I
(—/ iwl" F=int (f,x)
@-_EW disp(' ')
/ N valSym=subs (F, {a x}, {1 1/sqgrti2) })
= g‘u\’)ﬁ disp(' ')
(:L: FNum=mat labFunction(F)
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